www.vustudy.com
Agriculture Officer Solved Paper-2004

[image: ]
[image: ]
[image: ]









www.vustudy.com

image1.png
FEDERAL PUBLIC SERVICE COMMISSION
COMPETITIVE EXAMINATION FOR RECRUITMENT TO POSTS
IN BPS - 17 UNDER THE FEDERAL GOVERNMENT, 2004.

COMPULSORY QUESTION

8. Write only the correct answer in the Answer Book. Do not reproduce the
questions.

(1) Olericulture is the study dealing with:
(a) Vegetable production

(b) Honey bee

(c) Oramental Flowers

(d) None of these

(2) Colostrum is:
(a) Low nutritive milk

(b) First product of mammary glands after parturition
(c) Product of mammary glands after two month of parturition
(d) None of these

(3) Banana fruit is classified in the catego
(a) Drupe

(b) Pomes

(c) Berry

(d) None of these

(4) Older the rice:

(a) Worse in price

(b) Damaged in shape

(c) Cheaper in price

(d) None of these (Please confirm it)

(5) Gossypium Hirsutum is the botanical name of:
(a) American Cotton

(b) Desi Cotton

(c) Barley

(d) Sugar Cane

(e) None of these

(6) Selection of plants on the basis of phenotypic superiority is known as:
(a) Hybrid

(b) Mass Selection

(c) Inbred Line

(d) Pure Line

(e) None of these

(7) Agricultural Extension relates to:
(a) Modernization of agricultural machinery
(b) Financial help to the farmers

(c) Educating farmers
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(d) None of these

(8) When soil surface is protected with residue of a crop, the practice is called:
(a) Nitrogen fixation

(b) Sheet erosion

(c) Tillage

(d) Muiching

(e) None of these

(9) Bhagnari is a breed of:
(a) Buffalo

(b) Cow

(c) Sheep

(d) Poultry

(e) None of these

(10) Afforestation means:

(a) Forest Research Station

(b) To convert land into forest
(c) Utilization of forest products
(d) None of these

(11) Population genetics is based on:
(a) Principles of population control

(b) Mendel’s Law

(c) Hardy Wienberg's law

(d) Genotype-environment inter action
(e) None of these

(12) Inqalab - 91 is a variety of:
(a) Rice

(b) Cotton

(c) Sugar cane

(d) Wheat

(e) None of these

(13) Crops produced in
(a) Iron

(b) Zinc

(<) Nitrogen

(d) Todine

() None of these

y areas are low in:

(14) Crossing over occurs between:
(a) Sister Chromatids

(b) Homologous Chromosomes

(c) Non-Homologous Chromosomes

(d) None of these
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(15) Gypsum is rich source of:
(a) Calcium + Zinc

(b) Potassium + Nitrogen

(<) Calcium + Sulphur

(d) None of these

(16) F.A.0. has its headquarters in:
(a) London

(b) New York

(c) Geneva

(d) None of these

(17) Organic matter in soil helps in:
(a) Improving soil structure

(b) Improving soil texture

(c) Weed control

(d) Building up of organic compounds in crops
(e) None of these

(18) Seed cotton means
(a) Seed without lint

(b) Seed with lint

(c) Lint only

(d) None of these

(19) The ploidy level of American Cotton is:
(a) Diploid

(b) Triploid

(c) Tetraploid

(d) None of these

(20) Contribution of Agriculture to GDP is:
(a) 35%

(b) 50%

(c) 75%

(d) None of these




